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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R
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07:15 200 100.0 2.16 |Z=| {Ri%e07:15 Bz CGREAEZEBE)
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13:10 200 100.0 2.16 FE| 1BRi&@13:10 Bzh (GRAEREE)
14:50 200 100.0 2.16 FA| 1BRi%@14:50 B3h (KRAHERE)
=3t| 1400.0 (70%) 700.0 3EGHKEC: 3000, PH: 6.4

EREBRIERLLFRAK (0.59 vs 0.53)), AIREE ZREIEREEIRK

2RI\ EPRERE100. 0 ml.

large discrepency for begining water status (381:192.0), set to 381 ml.

MEXFEREH AR E, i R &RPH2 546.5,9.9,6.5, WEKK

REFRGEMIPH (9.94) 5i8%EPH (6.5) REKK, BHRE
REXEBPH (9.94) 5FMPH (6.5) fRELK, 1BHRT

FRAVE NS KIFHBPH 6. 42
REE NS KFHIKREC 2250

.0

ERGEBPH (10.6) 5REE (6.5 RERK, HHE.
ERGEBIPH (10.6) S5HERIEW (6.4) RERK, HRE.
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2it]1530.0 (5%) 500. 0 ZHKEC: 3000, PH: 6.5

FORGEBAT SR AR B2 Y (306 vs 189.0))

PRIALPRIERE162.0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK
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